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Multiplying a Decimal by a Power of Ten

Solve the following problems.

1.4 1,000x =

2.5 100x =

1.9 10x =

3.8 10x =

3.6 100x =

4.3 1,000x =

0.5 1,000x =

0.7 100x =

0.6 10x =

3.5 10x =

0.8 10x =

0.4 100x =

0.6 1,000x =

1.3 1,000x =

1.7 100x =

1.1 10x =

0.2 1,000x =

0.5 100x =

3.1 10x =

5.2 10x =

2.1 100x =

5.8 1,000x =

1.5 1,000x =

3.5 100x =

8.5 10x =
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Answers

Solve the following problems.

1,4001.4 1,000x =

2502.5 100x =

191.9 10x =

383.8 10x =

3603.6 100x =

4,3004.3 1,000x =

5000.5 1,000x =

700.7 100x =

60.6 10x =

353.5 10x =

80.8 10x =

400.4 100x =

6000.6 1,000x =

1,3001.3 1,000x =

1701.7 100x =

111.1 10x =

2000.2 1,000x =

500.5 100x =

313.1 10x =

525.2 10x =

2102.1 100x =

5,8005.8 1,000x =

1,5001.5 1,000x =

3503.5 100x =

858.5 10x =


